PRIMARY
 ALTERNATE

	IID PROPOSAL FORM (FORMAT B) }pereprint (화원(대)								
	Smitter and at the Matter. 31d No.: 002-NN06		[HAVE OF BIODER:		NAME OF BIODER;		NAME OF BIODER:	
li-	Title: Sod, Incidental Materials and Services: Supply, Furnish and Install			Bannerman La	ndscaping, Inc.	Florida Turf & Landscap	e Horliculture, Inc.	Mullings Engir	eering Services, LLC
	Manager: Suzanne F. Lopez DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	PRICE PER UNIT	TOTAL	PRICE PER UNIT	TOTAL	PRICE PER UNIT	TOTAL
	VENDOR SHALL INDICATE MANUFACTURER'S WARRANTY, IF GREATER THAN ONE						St.		
	Items 1 through 21 will be award on a total low bid basis. Vendor must bid all items. Furnish all transportation, labor, supervision, equipment and materials necessary to supply and install sod and incidental materials and services at Miami-Dade County Public School facilities. All materials and methods must adhere to MDCPS Master Specifications.						9)		<u>.</u>
1	St. Augustine Floratam Sod installed as Squares	300,000	PER SQ. FT.	\$0.24	\$72,000.00	\$0.32	\$96,000.00	\$0.30	\$90,000.00
2	Bahia Argentine Sod installed as Squares	50,000	PER SQ. FT.	\$0.18	\$9,000.00	\$0.29	\$14,500.00	\$0.22	\$11,000.00
3	Bermuda Celebration Sod installed as Squares	66,000	PER SQ. FT.	\$0.34	\$22,440.00	\$0.65	\$42,900.00	\$0.30	\$19,800.00
4	Bernuda Celebration installed as rolls	250,000	PER SQ. FT.	\$0.38	\$95,000.00	\$0.65	\$162,500.00	\$0.35	\$87,500.00
5	St. Augustine Floratam installed as rolls.	10,000	PER SQ. FT.	\$0.38	\$3,800.00	\$0.35	\$3,500.00	\$0.30	\$3,000.00
6	Provide and distribute water for sod.	210,000	PER GAL	\$0.10	\$21,000.00	\$0.05	\$10.500.00	\$0.07	\$14,700.00
7	Provide labor with hand tools for miscellaneous fine grading.	800	PER HR.	\$35.00	\$28,000.00	\$23.00	\$18,400.00	\$20.00	\$16,000.00
8	Roll sod-to complete installation.	423,500	PER SQ. FT.	\$0.100	\$42,350.00	\$0.014	\$5,929.00	\$0.020	\$8,470.00
9	Top soil mix 80/20 (70% silica sand; 30% Florida Peat). Provide and install to a finished grade M-DCPS Master specification guidelines compacted to 85% relative density	1.500	PER CUBIC YD.	\$38.00	\$57,000.00	\$35.00	\$52,500.00	\$37.00	\$55,500.00
10	Provide and spread 80/20 soil mix as top dressing for sod. (80% silica sand: 20% Florida Peat)	950	PER CUBIC YD.	\$40.00	\$38,000.00	\$32.00	\$30,400.00	\$37.00	\$35,150.00
11	Provide and spread silica sand top dressing for sod.	950	PER CUBIC YD.	\$45.00	\$42,750.00	\$40.00	\$38,000.00	\$37.00	\$35,150.00
12	Provide and install cypress mulch.	150	PER CUBIC YD.	\$40.00	\$6,000.00	\$40.00	\$6,000.00	\$42.00	\$6,300.00
13	Provide and install eucalyptus mulch.	150	PER CUBIC YD.	\$50.00	\$7,500.00	\$45.00	\$6,750.00	\$44.00	\$6,600.00
14	Provide and install red designer mulch.	250	PER CUBIC YD.	\$35.00	\$8,750.00	\$30.00	\$7,500.00	\$38.00	\$9,500.00
15	Roto Til to a depth of up to 4 inches, as specified by the M-DCPS authorized representative.	100,000	PER SQ. FT.	\$0.25	\$25,000.00	\$0.12	\$12,000.00	\$0.04	\$4,000.00
16	Scarify soil surface with an Koro agricultural milling machine.	100,000	PER SQ. FT.	\$0.25	\$25,000.00	\$0.18	\$18,000.00	\$0.25	\$25,000.00
17	Dispose offsite of debris generated by Item 16	300	PER CUBIC YD.	\$50.00	\$15,000.00	\$12.00	\$3,600.00	\$25.00	\$7,500.00
18	Provide and install screening sand fill (sieve 16 - 19) to rough grade, including compaction to 90% density.	600	PER TON	\$20.00	\$12,000.00	\$32.00	\$19,200.00	\$32.00	\$19,200.00
19	Grade and level. Price shall include all necessary labor, equipment, excavation, stripping, clearing, grubbing, stabilization, disposal of excess fill material off site and disposal fees.	1,000	PER CUBIC YD.	\$50.00	\$50,000.00	\$78.00	\$78,000.00	\$58.00	\$58,000.00
20	Removal and disposal of debris, including disposal fees	500	PER CUBIC YD.	\$65.00	\$32,500.00	\$26.00	\$13,000.00	\$28.00	\$14,000.00
21	Laser Grading per section 1.07.	500,000	PER SQ. FT.	\$0.35	\$175,000.00	\$0.05	\$25,000.00	\$0.11	\$55,000.00
	TOTAL LOW				\$788,090.00		\$664,179.00		\$581,370.00

CREATED BY

	PRIMARY				
=======!	ALTERNATE				

BID PROPOSAL FORM (FORMAT B) Type or print by this bas the complete ni mis of the blotters NAME OF BODER: NAME OF BIDDER Bid No.: 002-NN06 Title: Sod, Incidental Materials and Services: Supply, Furnish and Install Odums Sod. Inc Sunset Sod Inc Manager: Suzanne F. Lopez ESTIMATED TOTAL UNIT PRICE PER UNIT TOTAL PRICE PER UNIT ITEM DESCRIPTION OF ITEM QUANTITY VENDOR SHALL INDICATE MANUFACTURER'S WARRANTY, IF GREATER THAN ONE Items 1 through 21 will be award on a total low bid basis. Vendor must bid all items. Furnish all transportation, labor, supervision, equipment and materials necessary to supply and install sod and incidental materials and services at Miami-Dade County Public School facilities. All materials and methods must adhere to MDCPS Master Specifications. St. Augustine Floratam Sod installed as Squares 300,000 PER SQ. FT. \$0.27 \$81,000.00 \$0.27 \$81,000.00 2 50,000 PER SQ. FT. \$0.235 \$11,750.00 \$0.05 Bahia Argentine Sod installed as Squares \$2,500.00 66,000 PER SO. FT. \$0.32 \$21,120.00 \$0.34 3 Bermuda Celebration Sod installed as Squares \$22,440.00 PER SQ. FT. Bermuda Celebration installed as rolls 250,000 \$0.34 \$85,000.00 \$0.38 \$95,000.00 St. Augustine Floratam installed as rolls. 10,000 PER SO, FT. \$0.28 \$2,800.00 \$0.05 \$500.00 6 Provide and distribute water for sod. 210,000 PER GAL \$0.10 \$21,000.00 30.02 \$4,200.00 PER HR. Provide labor with hand tools for miscellaneous fine grading. 800 \$18.00 \$14,400.00 \$12.00 \$9,600.00 Roll sod-to complete installation. 423,500 PER SQ. FT. \$0.03 \$12,705.00 \$0.01 \$4,235.00 Top soil mix 80/20 (70% silica sand; 30% Florida Peat). Provide and install to a finished grade M-DCPS PER CUBIC 1,500 \$40.00 \$60,000.00 \$35.00 Master specification guidelines compacted to 85% relative density YD. \$52,500.00 PER CUBIC Provide and spread 80/20 soil mix as top dressing for sod. (80% silica sand: 20% Florida Peat) 950 \$42.00 \$39,900.00 \$38.00 YD. \$36,100.00 PER CUBIC 950 Provide and spread silica sand top dressing for sod. \$42.00 \$39,900.00 \$20.00 YD. \$19,000.00 PER CUBIC 12 Provide and install cypress mulch. 150 \$47.00 \$7,050.00 \$34.00 \$5,100.00 YD. PER CUBIC 13 Provide and install elicalyptus mulch. 150 \$52.00 \$7,800.00 \$12.00 YD. \$1,800.00 PER CUBIC 14 Provide and install red designer mulch. 250 \$42.00 \$10,500.00 \$35.00 YD. \$8,750.00 15 Roto Til to a depth of up to 4 inches, as specified by the M-DCPS authorized representative. 100,000 PER SQ. FT. \$0.07 \$7,000.00 \$0.02 \$2,000.00 Scarify soil surface with an Koro agricultural milling machine. 100,000 PER SO. FT. 16 \$0.08 \$0.12 \$8,000.00 \$12,000.00 PER CUBIC 17 Dispose offsite of debris generated by Item 16 300 \$20,00 \$6,000.00 \$20.00 YD. \$6,000.00 18 Provide and install screening sand fill (sieve 16 - 19) to rough grade, including compaction to 90% density. 600 PER TON \$18.00 \$10,800.00 \$38.00 \$22,800.00 Grade and level. Price shall include all necessary labor, equipment, excavation, stripping, clearing, PER CUBIC 1,000 \$35.00 \$35,000.00 \$50.00 prubbing, stabilization, disposal of excess fill material off site and disposal fees. YD. \$50,000.00 PER CUBIC Removal and disposal of debris, including disposal fees 500 \$20.00 \$10,000.00 \$20.00 YD. \$10,000.00 21 Laser Grading per section 1.07. 500,000 PER SQ. FT. \$0.08 \$40,000.00 \$0.105 \$52,500.00 TOTAL LOW \$531,725.00 \$498,025.00

VERIFIED BY Julian

PRIMARY
 ALTERNATE

	BID PROPOSAL FORM (FORMAT B)							h	
	BUP FOUNDAL FORM (FORMAL B) Tips w prior in this bis the will be size if this bis for								
	Bid No.: 002-NN06	į	NAME OF BIODER:		NAME OF BIODER: NAME OF BIODER:			E OF BIODER:	
	Title: Sod, Incidental Materials and Services: Supply, Furnish and Install	1		Bannerman Landscaping, Inc.		Florida Turf & Landscape Horliculture, Inc.		Mullings Engineering Services, LLC.	
	Manager: Suzanne F. Lopez		1		<u> </u>	[]	<u></u>	1	<u></u>
ITEM	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	PRICE PER UNIT	TOTAL	PRICE PER UNIT	TOTAL	PRICE PER UNIT	TOTAL
	Items 22 through 32 will be award on a total low bid basis. Vendor must bid all items. Furnish all transportation, labor, supervision, equipment and materials necessary to supply and install sod and incidental materials and services at Miami-Dade County Public School facilities. All materials and methods must adhere to MDCPS Master Specifications.								
22	St. Augustine Floratam sod: Delivered to any M-DCPS facility and unloaded by vendor.	50,000	PER SQ. FT.	\$0.24	\$12,000.00	\$0.24	\$12,000.00	\$0.25	\$12,500.00
23	St. Augustine Floratam sod: picked- up by M-DCPS	50.000	PER SQ. FT.	\$0.24	\$12,000.00	\$0.22	\$11,000.00	\$0.22	\$11,000.00
24	Bahia Argentine sod: delivered to any M-DCPS facility and unloaded by vendor.	1,000	PER SQ. FT.	\$0.20	\$200.00	\$0.26	\$260.00	\$0.17	\$170.00°
25	Bahia Argentine sod: Picked- up by M-DCPS.	1.000	PER SQ. FT.	\$0.20	\$200.00	\$0.24	\$240.00	\$0.16	\$160.00
26	Bermuda Celebration Sod: Delivered to any M-DCPS facility and unloaded by vendor.	10,000	PER SQ. FT.	\$0.32	\$3,200.00	\$0.58	\$5,800.00	\$0.25	\$2,500.00
27	Bennuda Celebration Sod Picked-up by M-DCPS.	5,000	PER SQ. FT.	\$0.32	00.000,12	\$0.56	\$2,800.00	\$0.22	\$1.100.00
28	Bulk cypress mulch: Delivered to any M-DCPS facility and unloaded by vendor.	100	PER CUBIC YD.	\$45.00	\$4,500.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00
29	Bulk eucalyptus inulch: Delivered to any M-DCPS facility and unloaded by vendor.	100	PER CUBIC YD.	\$50.00	\$5,000.00	\$32.00	\$3,200.00	\$35.00	\$3,500.00
30	Bagged cypress mulch: Delivered to any M-DCPS facility and unloaded by vendor.	400	2 CUBIC YD/BAG	\$5.00	\$2,000.00	\$2.30	\$920.00	\$4.75 ?	\$1,900.00
31	Bagged eucalyptus mulch: Delivered to any M-DCPS facility and unloaded by vendor.	400	2 CUBIC YD/BAG	\$5.00	\$2,000.00	\$2.60	\$1,040.00	\$5.25	\$2,100.00
32	Bagged red designer mulch: Delivered to any M-DCPS facility and unloaded by vendor.	350	2 CUBIC YD/BAG	\$6.00	\$2,100.00	\$1.80	\$630.00	\$4.25	\$1,487.50
	TOTAL LOW				\$44,800.00		\$40,890.00		\$39,417.50
	Item 33 will be awarded to the lowest responsive, responsible bidder. Furnish all transportation, labor, supervision, equipment and materials necessary to supply hydro-seeding per specifications at Miami-Dade County Public School facilities. All materials and methods must adhere to MDCPS Master Specifications.								
33	Hydro-seeding .	15,000	PER SQ. YD.	\$2.00	\$30,000.00	\$0.15	\$2,250.00	\$0.11	\$1,650.00
	- 1								

VERIFIED BY SKOPAY

PRIMARY
 ALTERNATE

BID PROPOSAL FORM (FORMAT B) Type or print by this bas the complete nime et lat blebeir NAME OF BIDDER: NAME OF BIDDER Bid No.: 002-NN06 Title: Sod, Incidental Materials and Services: Supply, Furnish and Install Odums Sod, Inc Sunset Bod, Inc. Manager: Suzanne F. Lopez **ESTIMATED** PRICE PER UNIT TOTAL UNIT PRICE PER UNIT TOTAL ITEM DESCRIPTION OF ITEM QUANTITY Items 22 through 32 will be award on a total low bid basis. Vendor must bid all items. Furnish all transportation, labor, supervision, equipment and materials necessary to supply and install sod and incidental materials and services at Miami-Dade County Public School facilities. All materials and methods must adhere to MDCPS Master Specifications. 22 St. Augustine Floratam sod: Delivered to any M-DCPS facility and unloaded by vendor. 50,000 PER SQ. FT. \$0.25 \$12,500.00 \$0.28 \$14,000.00 50,000 PER SQ. FT. \$0.22 \$11,000.00 \$0.23 23 St. Augustine Floratam sod: picked- up by M-DCPS \$11,500.00 \$215.00 \$0.05 24 Bahia Argentine sod: delivered to any M-DCPS facility and unloaded by vendor. 1.000 PER SQ. FT. \$0.215 \$50.00 PER SQ. FT. 1.000 \$0.145 \$145.00 \$0.05 25 Bahia Argentine sod: Picked- up by M-DCPS. \$50.00 Bermuda Celebration Sod: Delivered to any M-DCPS facility and unloaded by vendor. 10.000 PER SQ. FT. \$0.28 \$2,800.00 \$0.22 \$2,200.00 5.000 PER SO. FT. \$0.25 \$1,250.00 \$0.20 27 Bermuda Celebration Sod Picked-up by M-DCPS. \$1,000.00 PER CUBIC \$24.00 28 Bulk cypress mulch: Delivered to any M-DCPS facility and unloaded by vendor. 100 \$42.50 \$4,250.00 \$2,400.00 YD. PER CUBIC 29 100 \$47.50 \$4,750.00 \$18.00 Bulk eucalyptus mulch: Delivered to any M-DCPS facility and unloaded by vendor. YD. \$1,800.00 2 CUBIC Bagged cypress mulch: Delivered to any M-DCPS facility and unloaded by vendor. 400 \$4.50 \$1,800.00 \$4.00 30 YD/BAG \$1,600.00 2 CUBIC \$2,400.00 \$1.50 Bagged cucalyptus mulch: Delivered to any M-DCPS facility and unloaded by vendor. \$6.00 400 YD/BAG \$600.00 2 CUBIC Bagged red designer mulch: Delivered to any M-DCPS facility and unloaded by vendor. 350 \$5.00 \$1,750.00 \$4.50 32 \$1,575.00 YD/BAG TOTAL LOW \$42,860.00 \$36,775.00 Item 33 will be awarded to the lowest responsive, responsible bidder. Furnish all transportation, labor, supervision, equipment and materials necessary to supply hydro-seeding per specifications at Miami-Dade County Public School facilities. All materials and methods must adhere to MDCPS Master Specifications. 33 Hydro-seeding 15,000 PER SQ. YD. \$0.15 \$2,250.00 0.99 \$14,850.00

> CREATED BY A. NOSVA VERIFIED BY (2)